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Page 46, Eq. (3.91): w must change to 2. The corrected Eq. (3.91) reads:
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Page 47, Eq. (3.97): £ must change to £. The corrected Eq. (3.97) reads:

B(T) = UNT)(0) = e (0) = ek 0).

Page 49, Eq. (3.107): £ must change to £. The corrected Eq. (3.107) reads:
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Page 49, first displayed equation below Eq. (3.108): w must change to €.

This equation should read:
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Page 50, first displayed equation below Eq. (3.112): The w in the denomi-

nator must change to 2. This equation should read:
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Fo% =dA=—k sinf df A dp.

Page 50, Eq. (3.113): The w in the denominator must change to 2. This equation

should read: ( )
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Page 51, first displayed equation below Eq. (3.116): & must change to %

This equation should read:
t 0 ~
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Page 51, 4th Paragraph starting in this page, Line 4: w must change to 2.
This line should read:

“period 7 = 2 with Q given by (3.73). A Special case of Class B cyclic evo-”



